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QUESTION 1

Which interconnectivity method offers the fastest convergence in the event of a unidirectional issue between three Layer
3 switches connected together with routed links in the same rack in a data center? 

A. Fiber Ethernet connectivity with UDLD enabled 

B. Copper Ethernet connectivity with BFD enabled 

C. Fiber Ethernet connectivity with BFD enabled 

D. Copper Ethernet connectivity with UDLD enabled 

Correct Answer: C 

 

QUESTION 2

On this MPLS-based networking ring, links have failed between router A and router E. These failures formed microloops
while the network converged, when A forwarded traffic to B, but B forwarded it back to A. Which technology is the
simplest solution to avoid microloops without enabling a new protocol in the network? 

A. Loop-Free Alternate 

B. Remote Loop-Free Alternate 

C. IP Fast ReRoute 

D. TE Fast ReRoute 

Correct Answer: B 
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QUESTION 3

You are designing a NAC OOB Layer 3 Real-IP Gateway deployment for a customer. Which VLAN must be trunked
back to the Clean Access Server from the access switch? 

A. untrusted VLAN 

B. user VLAN 

C. management VLAN 

D. authentication VLAN 

Correct Answer: A 

 

QUESTION 4

Which three tasks are common network management practices? (Choose three.) 

A. Ensure that all network devices have their clocks synchronized. 

B. Collect SNMP poll information for future regression analysis. 

C. Capture both ingress and egress flow-based packets, while avoiding duplication of flows. 

D. Look at average counters instead of instantaneous counters for inconsistent and bursty KPIs, such as CPU utilization
and interface utilization. 

E. Validate data plane health, and application and services availability, with synthetic traffic. 

Correct Answer: ADE 

 

QUESTION 5

What is a characteristic of traffic shaping? 

A. It minimizes traffic transmission intervals. 

B. It remarks excess packets above the committed rates. 

C. It delays and can drop excess traffic. 

D. It classifies traffic based on certain characteristics. 

Correct Answer: C 
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